

FOLLOW US!









Canif Ors

CATALOGUE

PET FOOD 2023

Canifors Prime class dog & cat food, founded by Cebag B.V. The Netherlands. A Family company since 1973!

Canifors has been created out of love for dogs and cats, which literally means "canine power".

We aim to provide you top quality dog and cat food for all types and breeds at a realistic price.

Canifors contains all the required nutrition, vitamins and minerals without any surplus additives at unnecessary costs.

Canifors is produced in The Netherlands and meets the highest European standards of quality. We do not deliver directly to consumers but work together with a network of distributors.

We want to be easily reachable; you will have direct contact with our sales, logistics, promotion and/or quality department! Immediate answers, no delay and only thinking in solutions. Adapting to cultures, rules and regulations of all countries. Family feeling all over the world. You don't stand alone! One telephone/app number for all your questions answered in 24 hours. We are **CANIFORS** for you!!

At your service,



Healthy and fully nutritious food for Dogs & Cats

Telephone Office: +31 522 46660 **WhatsApp:** +31 615477604

www.CANIFORS.com

info@canifors.com



DOG FOOD - WET











					Truck	Container
Product description	EAN-code	Languages	Expiry date	Cans per tray	Trays per pilt	Trays per plit
Dog Chunks 410gr — Lamb	8719689033187	NL/FR/GB/SP/ARAB	24 months	24	84	133
Dog Chunks 410gr — Beef	8719689033163	NL/FR/GB/SP/ARAB	24 months	24	84	133
Dog Chunks 410gr — Poultry	8719689033170	NL/FR/GB/SP/ARAB	24 months	24	84	133
Dog Chunks 410gr – Puppy 3 mix	8719689033156	NL/FR/GB/SP/ARAB	24 months	24	84	133
Dog Chunks 410gr — Deer	8719689033286	NL/FR/GB/SP/ARAB	24 months	24	84	133
Dog Chunks 1,25kg — Lamb	8719689033217	NL/FR/GB/SP/ARAB	24 months	12	64	96
Dog Chunks 1,25kg — Beef	8719689033194	NL/FR/GB/SP/ARAB	24 months	12	64	96
Dog Chunks 1,25kg — Poultry	8719689033200	NL/FR/GB/SP/ARAB	24 months	12	64	96



CAT FOOD - WET













Product description	EAN-code	Languages	Expiry date	Cans per tray	Truck Trays per plit	Container Trays per plit
· · · · · · · · · · · · · · · · · · ·	i e	NL/FR/GB/SP/ARAB		24	84	133
Cat Chunks 410gr — Chicken	8719689033149	NL/FR/GB/SP/ARAB	24 months	24	84	133
Cat Chunks 410gr – Rabbit	8719689033279	NL/FR/GB/SP/ARAB	24 months	24	84	133
Cat Chunks 410gr – 3 mix	8719689033132	NL/FR/GB/SP/ARAB	24 months	24	84	133
Cat Chunks 410gr — Kitten	8719325384093	NL/FR/GB/SP/ARAB	24 months	24	84	133
Cat & Kitten Milk 250ml	8719325384864	GB/ARAB	12 months	12	200	256





CAT FOOD - WET











				Truck	Container
EAN-code	Languages	Expiry date	Cans per tray	Trays per plit	Trays per plit
8719689033552	GB/ARAB	24 months	16	384	384
8719689033545	GB/ARAB	24 months	16	384	384
8719689033699	GB/ARAB	24 months	16	384	384
8719689033682	GB/ARAB	24 months	16	384	384
8719689033972	GB/ARAB	24 months	16	384	384
8720828466001	GB/ARAB	24 months	9	252	252
8720828466018	GB/ARAB	24 months	9	252	252
8720828466025	GB/ARAB	24 months	9	252	252
8720828466032	GB/ARAB	24 months	9	252	252
8720828466049	GB/ARAB	24 months	9	252	252
	8719689033552 8719689033545 8719689033699 8719689033682 8719689033972 8720828466001 8720828466018 8720828466025 8720828466032	8719689033552 GB/ARAB 8719689033545 GB/ARAB 8719689033699 GB/ARAB 8719689033682 GB/ARAB 8719689033972 GB/ARAB 8720828466001 GB/ARAB 8720828466018 GB/ARAB 8720828466025 GB/ARAB 8720828466032 GB/ARAB	8719689033552 GB/ARAB 24 months 8719689033545 GB/ARAB 24 months 8719689033699 GB/ARAB 24 months 8719689033682 GB/ARAB 24 months 8719689033972 GB/ARAB 24 months 8720828466001 GB/ARAB 24 months 8720828466018 GB/ARAB 24 months 8720828466025 GB/ARAB 24 months 8720828466032 GB/ARAB 24 months	EAN-code Languages date per tray 8719689033552 GB/ARAB 24 months 16 8719689033545 GB/ARAB 24 months 16 8719689033699 GB/ARAB 24 months 16 8719689033682 GB/ARAB 24 months 16 8719689033972 GB/ARAB 24 months 16 8720828466001 GB/ARAB 24 months 9 8720828466018 GB/ARAB 24 months 9 8720828466025 GB/ARAB 24 months 9 8720828466032 GB/ARAB 24 months 9	EAN-codeLanguagesExpiry dateCans per trayTrays per plit8719689033552GB/ARAB24 months163848719689033545GB/ARAB24 months163848719689033699GB/ARAB24 months163848719689033682GB/ARAB24 months163848719689033972GB/ARAB24 months163848720828466001GB/ARAB24 months92528720828466018GB/ARAB24 months92528720828466025GB/ARAB24 months92528720828466032GB/ARAB24 months9252





Become a distributor

Canifors places a great deal of value on effective collaboration with distributors. For this reason, we offer you value for money in every way.

Canifors distributors benefit from the following advantages:

Low inventory costs and high rate of inventory turnover You only need to stock one type of dog and/or cat food.

Attractive profits

Because Canifors is produced efficiently, we keep costs down and can offer you an above-average mark-up for products in this market segment, and this at a lower retail price.

Long shelf life

Canifors is packaged in special bags that properly preserve aroma and taste, and the food is protected against moisture and pests.

Satisfied customers

With Canifors, your customer gives his best friend the best nutrition at a fair price.

Real quality for real prices.





Real

ADDITIONAL COSTS:

Depending on destination / country requirements:

- Inspection (SGS) € 350,- / order (Ivory Coast)
- Free sale certificate* € 70,- / document
- Veterinary / health certificate* € 70,- / document
- Legalization (embassy)**

- * through our government
- ** to be determined, depending on country



Visit our new website! Page



WWW.CANIFORS.COM